=N S
ELOSIS &1
INSTALLATION INSTRUCTIONS Z2&15884
MIRRORED CABINET &t5
K-24654T/K-24655T/K-24656T/K-24657T/K-24658T

KOHLER.

iy o) i

BEFORE YOU BEGIN REZH

e Please read these instructions carefully to familiarize yourself with the required o SFMEIEAIES|, LMEARBELE. MRRLREER. SEREANED
tools, materials, and installation sequences. Follow the sections that pertain to RLERTTR, LRRELLSHAVEIIRE, BT EXRIERINREREZ,
your particular installation. This will help you avoid costly mistakes. In addition REFFAERERZLIES],
to proper installation, read all operating and safety instructions.

e All information in these instructions is based upon the latest product o NESIFrEz—IIER, HWUARRIREREZ & miEn AEM, REPER
information available at the time of publication. Kohler China. reserves the BNFIRER BN RAF . BB, BABITIE.

right to make changes in product characteristics, packaging, or availability at
any time without notice.

e These instructions contain important care, cleaning, and warranty o RIEPEIEEENTERE. BENFEFAENAS, BIDXLEHRERARFE,
information-please leave instructions for the consumer. o
o Before installation carefully inspect the new fixture for any signs of damage. o LEZH], (FHMETTRESHEIRG.
® The product complies with GB/T10357.4-2013, GB/T10357.5-2013 and o AZRFFES GB/T10357.4-2013, GB/T10357.5-2013 §1 GB24977-2010,
GB24977-2010.
ORDERING INFORMATION TaER
This installation covers the following products in the ELOSIS mirrored cabinet LB BERAT U T SIS RIERTIRENTE:
range:
ELOSIS Mirrored Cabinet1526............ccccviueeeeeririeieresiesieesteseeeesesneens K-24658T LRIFEIE 1526
ELOSIS Mirrored Cabinet2026.... K-24657T 3CEIFHIE 2026....
ELOSIS Mirrored Cabinet2526.... K-24656T SRR 2526....
ELOSIS Mirrored Cabinet3026.... K-24655T 3BTRS 3026....
ELOSIS Mifrored CabiNet3526..............c.cueemevrmeerresseesneeseeesessseceenns K-24654T 3EIFHIE 3526
ROUGHING-IN R~E
Reference Value UNIT: mm
S%EE By =K
Vi Vi V4
% % 7 4
gl || 7 7 g2 / Y g3 7 VAR,
Vi Vi Vi Vi
Y Y Y 4 p J J
381 505 251 378
380 508 635
K-24658T K-24657T K-24656T
Vi ” Vi V Vi V4 Vi V4 ”
g3 % VAN Y gal || 7 7 V2 7
Y4 VAN Y Y4 7 V2 7
251 505 379 505
762 890
K-24655T K-24654T
Kohler reserves the right to change marked dimensions without prior notice.
RN THREBIEIE R EPIRRRTHINF, TERTEA.
PARTS Bt
Parts supplied with your cabinet. (For cabinet body and door replacement, call BIEEEM (IE5RIMMAUSEERERE SRS ), BFAREELEME.,

customer service with model number.) Be sure to check the cardboard supports
in the carton, glass parts are packed in them.

ZHONGSHAN KOHLER SHOWER CO., LTD. NO13-1, XINGYE ROAD, ZHONGSHAN TORCH
DEVELOPMENT ZONE, ZHONGSHAN, GUANGDONG, CHINA POST CODE: 528437
PURERAERAT TREPUBFLKEFARXKIE 13-1 5 #HR4%E : 528437

© Copyright Kohler China Investment Co., Ltd. 2018
1354622 -T01-A -1- © WRIIRIED (FE ) REBRATFE 2018



PARTS BELOW ARE USED WITH ALL CABINETS.
ARSI HER T AE A =UA0ATE,

NS

NN
NN

Side Aluminum Plate

MEER

(o
o=

#8 X 3/8” Side Kits Screws
#8 X 3/8” iRz

Screws Caps S, W
S,\W #8445

Wall Anchors
IRIERET

bk
&%%%

Snap-in Pins

ATUEREE

Top Clips
TR0

TETTTTTTTOTOTT
TOTTTTTTTTTT
TTTTUTTOTOTTT

TUOTTTUTTTT

Hole plugs W
W FLEE

INSTALLATION
NOTE

All steps are for all cabinets unless noted. (*)

® For recess mount see instructions below

® For surfaces mount instructions see step 2

4 Side Kits Brackets
4 RS

(o
(o

(o
(g

#8 X 1 1/2” Phillips Head Screws
#8 X 11/2” [ESL425]

#8 X 2" Hex Head Slotted Screws
#8 X 2" 7 ARET

ONE DOOR CABINET-Part list

B AE-THER

11” Mounting Bar for
K-24658T/K-24657T
280 ERAGES

K-24658T/K-24657T

2 Glass Shelves
K-24658T/K-24657T
2 RIFEEENR
K-24658T/K-24657T

\

AN

AN

TWO DOOR CABINET-Part list

X JAE- TR

Mounting Bar for
K-24656T (530mm)
K-24655T (660mm)
K-24654T (787mm)
PECEE S

K-24656T (530mm)
K-24655T (660mm)
K-24654T (787mm)

2 Glass Shelves
K-24656T
K-24655T
K-24654T

N

)

/

2 RIFHEIR
K-24656T

4 Side Kits Bracket Foam Tape
W S5 ST 2R

e A surface mounted cabinet requires the optional Side Aluminum Plate supplied

with your cabinet.

1. Recessing the cabinet into the wall

A. The Vertical installation changes the width of the roughout. Please refer to the

picture below.

1354622 -T01-A

///

///

K-24655T
\_K-24654T

L=t
3

=

PRFBIIRER (1) 5, AT RELSBERTHEAEIE.
o RAXLEIBENLATIA.

o RN BNIRAARE — SRR,

o EEEUAERECENIER ( ChEF~ MM ).

1. BRARATERIERSE

A, REFRERIEEE 2R

BE. FSHTE.

—

— |

MMM

Z)

K-24658T 715

K-24657T X7
K-24656T

NANNNN

Mounting location for
#8x 1 1/2” philips
head screws

#8 12425\

362mm for K-24658T
489mm for K-24657T
616mm for K-24656T
743mm for K-24655T
871mm for K-24654T
TIEES 362 K

;J'E
REE 616 K ,
K-24655T FRFRERES 743 =K I
K-24654T FRFELE

75 489 K

55 871 =K

7
2%

=




B. Install screws through holes in cabinet as shown in Fig. 2
Note: DO NOT OVER- TIGHTEN! Use #8 x 1 1/2 Phillips head.

Top View
RE

B. 1R 2 PSR NS B RIREL 7,
ER: AATEAT, LRiBF! (R #8 B,

Cabinet flange fits flush against wall

BRBEDSEEFREYIS

Stud and wall surface

TIRLLIG NI

‘\ Install dome caps over screws

BRaEsE

Fig.2 E2

2. Surface-Mount Installation

Note: When installing by oneself, please remove the door before cabinet
installation and re-fix the door after cabinet installation.

A. Install mounting bar.

Refer to Fig. 3 for single-door installation.
Refer to Fig. 4 for double-door installation.

d

4 1/2" from edge side of cabinet

i
K-2a687T [ gEaienin 114 Bk
K-24658T §<_ 2" from edge side of cabinet

BEVATEMIA 50 =K

3/4" bottom of Cabinet
EEVATEIRIA 20 22K

Drill two 5mm holes and use the wall anchors supplied.

EMCREST 2 4 5mm (970, FERFTIRAOIRIERST
Fig.3 B3

2. EER A tERI RS
R —ATER, BT REEEER, RAEERE.

A ZRAEIEFRIER

B AR E LS IE 3
W AR RS I 4

\ |

3/4" bottom of Cabinet !
EEVATEIRIA 20 22K

2" from edge side of cabinet
BETATEIL 50 2K

Drill three 5mm holes and use the wall anchors supplied.

FEMDRbHT 3 4 smm (951, (ERRRMTASIRIERSET
Fig.4 E 4

Notes: Drill 1/4 hole in wall for mounting bar anchors at locations shown in Fig. 3.
(If you do not use the anchor, drill a 3/32 pilot hole.) After the holes are
drilled, fit the mounting bar onto the wall, refer to Fig. 3 for
measurements, and Fig. 5 for information on anchor cinching.

EREI: WE 3 AERAMUBETEREEE FiL 7 2RRFLE LIBIERE] (INRE
TRRIRKERRET, #h 2 XRA/NEIFL.) HhIFFLE, SIRE 3 NRTEYF
BHERESR, FHEE 5 RSB,

B. Install Top Clips
(Left and right top clips come connected, hold both clips and snap them apart).

1) Fit cabinet into position on mounting bar as shown in Fig. 7A.

2) Place clip in position as shown in Fig. 7B and mark with a pencil. Remove
clip and cabinet and drill the pilot or anchor holes where marked.

3) Fix both the clips into position with a screw, and slide the clip into the up
position. Sit the cabinet on the mounting bar, then lower and tighten the
screws into place, as shown in Fig. 7C.

4) See Fig. 8 for proper turns required for anchor cinching.

5) See Fig. 10 for Side Aluminum Plate application.

Cabinet bottom sits in lip /// \ Wall anchor (if required)

& IRIERET (NERE)

on bottom mounting bar
7A

#8 x 2" Hex Head
ZQLEJE‘E;?E?ES}E%J:, N\ scr:w&V?IZII :ﬁchor
IEREAHIE, IR (use x1/4" driver)
T N a8 ARBLREE (T
§§ BT IH IH ____ Top mount clip
L N Il Y il
#8 x 2" Hex Head screw
§ g T (Use 14" driver)
A\ #8 7 FRigyL
§ VAV:ELES
Ly
Fig.5 &5 Fig.6 E6

B. RN
(APREINREE—EN, ERmESTH) .

1) 20 7A B iatE ERIRIER L,
2) 1% 7B FiFTNEREN, BRRENL. BOTTHR A EETL.

3) 20E 7C P, FRMRLLSTRRITINEIE, FERI L5, aEmTRIER L,
RERRIRN, TR,

4) 17[E] 8 EXNERIRL,
5) ZHRE 10 AURBAZREMEEMR,

Once Screw is bottomed out on mount
clip, turn screw and additional 5 to 7
turns to fully expand the anchor.

R EETF RIS, SGIRLmEIE
5 & 7 BLAFRIBIE T2 ik

Side view at top of cabinet

TEFTRERARE

1 Ty

+ )

Fig.7 B 7 Fig.8 E 8

3. Attaching Side Aluminum Plate to a Surface Mounted Cabinet
A. Apply foam tape to Side kit bracket

1) Peel tape from sheet, leave liner on.

2) Apply as shown to side kit brackets, be sure they are clean and dry.

3) DO NOT PEEL RELEASE LINER UNTIL YOU HAVE TEST FIT THE SIDE
ALUMINUM PLATE ON THE CABINET!

B. Attach the side kit brackets to the cabinet as shown in Fig. 10

C. Test fit the side kits, then clears the back of the side aluminum plate with rubbing alcohol.

D. Peel the release tape from the brackets and apply the side aluminum plate, push
firmly to set.

E. Cover the screw heads with the screw caps.

1354622 -T01-A

3. fEEUAEMIERAYER S
A. USSR TR

1) I PWER, (REBEE.
2) FRERWETMSRSTZZR £, W BIRRSZRR TIREEAY.
3) {EIREMER S B EM S Z AE R EHFFEmLR!

B. 4NE 10 FnZeizsa2e.
C.IE—TEEVE, BRGEBIEREHETS.
D. #iFF322R EROTNERELR, M EMEERARE.

E. MRS PIRee s,



Fig.9 E9

Align top of side aluminum plate with top of flange

p UEIRIRER SRR F

Side kit bracket
(Fits tight under the
flange of cabinet)

e
(%@?ﬁ@%@?)iizzzi:/

,,,,, Gl 2 pieces
" 26" high
#8 x 3/8" screws 660 KRS

self thread into o o
Side Kit brackets MBI

#8 EIURLEE
llizszy

Side kit brackets
sz

7 .
0 Fig. 10 E10

4. Door adjustments

Note: BELOW FOR 1 & 2 DOOR CABINET ONLY*

A. This screw releases the door from the cabinet and allows up and down

adjustment. Fig. 12.

B. These screws allow you to plumb the door as shown in Fig. 13.

C. The screws you use for attaching the hinges. (Supplied with hinges)

8-32x1/2" (SS829)

4. [JRYiAEE
R U TEAT R TR e -
A, ABLANTTRTG JEE, FFET(E OB, WE 12 i,

B. XLAZLANFFEIS] WEANE 13 ARV AR EEEE.
C. L% IRFFARIIREL . (BEI D)

6-32x3/8" (SS679)

Fig. 11 B 11

s 7 >\

V 2

AN =

Fig. 12 & 12 Fig. 13 [E 13

5. Installing the shelves- see Fig. 15

A. Push/twist the pins into place

1) Push one side of the shelf into the left or right clips.
2) Snap the shelf down into the opposite side. If the shelf is too tight, repeat

the process from the other side.

B. Fill the remaining holes with the plugs.

Fig. 14 & 14

1354622 -T01-A

5. ZRIHIEER - WE 15
A. ZERZEE
1) BB IR T AT .
2) BRIEERMNB—IRET. MKEERAR, MNB—HFFRERE—R.

B. HfttSREGFLIAAEEL.

Fig. 15 E 15





